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2018 April New Cisco 200-310 Exam Dumps with PDF and V CE Just Updated Today! Following are some new 200-310 Real
Exam Questions:1.|2018 L atest 200-310 Exam Dumps (PDF & VCE) 608Q

Download: https://www.braindump2go.com/200-310.html 2.|2018 Latest 200-310 Exam Questions & Answers
Download:https.//drive.google.com/drive/folders/OB75b5xY Lj SSNbmNsWnFEczRBdUQ?usp=sharing QUESTION 116What |Pv4
addressing technique allows for the division of addresses into subnets of different sizes?A. VLSMB. RIRC. CIDRD. NAT
Answer: AQUESTION 117An organization is conducting an evaluation on the migration to |Pv6 within the enterprise network and
has requested clarification on recommended migration strategies. What three migration models would accomplish the organization's
goa? (Choosethree)A. Dua StackB. Service BlockC. Top-DownD. HybridE. TunneledF. Fork-LiftAnswer: ABD
QUESTION 118An application uses broadcast traffic to send data to IPv4 hosts. How can the application communicate using
IPv6?A. AnycastB. UnicastC. BroadcastD. MulticastAnswer: AQUESTION 119What significant advantage does EIGRP
have over OSPF?A. easy summarizationB. shorter convergencetimesC. single areaoperationD. low processor utilization
Answer: BQUESTION 120What routing protocol requires full mesh between internal peersin an enterprise network?A. OSPFB.
EIGRPC. BGPD. ISISE. RIPAnswer: CQUESTION 121What three considerations should be taken into account when
selecting arouting protocol ? (Choose three.)A.  classful routingB. scalabilityC. default route originationD. multi vendor
supportE. link load balancingF.  hop countAnswer: BDEQUESTION 122By default, how does EIGRP's metric differ from
OSPF?A. hopsB. costC. bandwidthD. delayAnswer: DQUESTION 123What characteristic separates link state routing
protocols from a distance vector?A. creates atopological view of the entire networkB. path calculation utilizes a more granular
metricC. does not scale well for large networksD. constantly shareslink state updates throughout the topologyAnswer: A
QUESTION 124A company must deploy an IGP routing protocol on an Enterprise Network. Where should route summarization be
implemented?A. distributionB. coreC. accessD. backboneAnswer: AQUESTION 125What routing configuration can
prevent routing loops between IGPs?A.  routefiltersB. routereflectorsC.  auto summarizationD. virtual linksAnswer: A
QUESTION 126What is the first step when creating a network security policy?A.  define what should be protectedB. investigate
how likely an attack isto occurC. implement measures to protect assetsD.  hire a security firm to perform penetration tests
Answer: AII'RECOMMEND!!!1.]2018 Latest 200-310 Exam Dumps (PDF & VCE) 478Q
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